
30432 30432 

A. Use 5/16 – 18NC x 1¼" Long Hex Bolts, Hex Nuts, & Flat washers 
(3 required).

B. Use 5/16 – 18NC x 1" Long Hex Bolts, Hex Nuts, & Flat Washers 
(2 required).

FRONT SIDE 

A. Use 5/16 – 18NC x 1¼" Long Hex Bolts, Hex Nuts, & Flat washers
(3 required).

B. Use 5/16 – 18NC x 1" Long Hex Bolts, Hex Nuts, & Flat Washers
(2 required).

FRONT SIDE 

Learn more about running boards and step bars we have.

http://www.carid.com/kentrol/
https://www.carid.com/running-boards.html

